
S2

The product of 2 and the di�erence between u and 3

is 15.

2)

The ratio of the di�erence between q and 7 to 4 is 8.3)

6 multiplied by the sum of x and 7 gives 4.4)

5)

The total of 12 and half of r gives 22. 6)

5 reduced by six times e is 17. 7)

Three times the di�erence between n and 8 is 28.8)

3 increased by half of b is equivalent to 5.9)

9 added to 8 times c gives 14.10)

The quotient of t plus 8 and 2 is equal to 1. 1)

Translate each sentence into a two-step equation.
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30 subtracted from three times m equals 5 multiplied

by m. 
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